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Key

Name : Date: Period:
Precalculus —Quarter 3 Test Review#2
Chapter 5:
1. Use the fundamental trig identities to write sec — tan #sin & in terms of cosé .
- 3inG S50 = L .30 . |-5iw_  Coste _
Cos0 Cos® —— °  Cose | 6o%€
Cos© Cose Co%o
2. Verify the identity: cs¢® @tan® @ —1=tan” 0
= L .3sie»®_) = L_ - | = S5ec?p-\ = +an*0"
Sin?® Cos*6 Cos2e
3. Use the sum/difference formulas to find
a. sin 105° b. tan 15° = -mn(Co‘-'-:s‘)
Sin(4o°+H45"%) = 1an 6o° — Tan4s*

SIn 60°C05 45° + cn560°.sm¥ °

= (E)(ﬁ).;.(i)(r) Ir
4. Simplify: sind2°cos38° — cos42%in38°
5in (42°-38°) =|siny®
U-
“ =225 5. Use the half-angle formulas to find:
—# a. sin 22.5°
Sin 45°= + | 2o 5% = -G
2 2
z;ﬂ - 2-0— N = —ri
= e

6. First, tind all solutions in the interval [0, 27). Then, give the general solution.

a. 4sin’x =1
Sin2x =4
siny=+%
5,9, 7%,

Geneal solvtion!

1+ tan&o® fan4s°®

=B =/ (B) (-0
1+ y3(1) (1+d3) (1-v3)
= U3-3-143 - :ﬁ-v-‘ﬁfz
) -3 -2
b. tn— AN 'Z—F= ‘ﬁﬂ%‘
R R
Sing T =
= 2-93
—;}'% =|2-03

b. sin2x =cos x

Able angle formule
2sinxtosX = CosX
23inXcosX —CoSX =0

X= I“-;-Tﬂ x*ﬁgr-f'ﬂn n&eZ

Cosx (23inX —1) =0
CosX =0 zsinv-l <o
S3rn X
, X-:E',
X=, 3r
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Answers:
Chapter 5:
1. cosé
3, YOrV2 b 243
4
4. sin4°
Sa. 2_‘5 b. 2-4/3
2
6a x:E S_Tt E E
’ 6" 67 67 6

s . .
xX= g + mn, where n21s an integer

T L
X= ? + 7in, where m1s an integer
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Ch) Eenemal solutim! hEZ
X=X+ Tn X2 t27n
X= 52?‘ +27Th
1 sin' @

-1
sin” @ cos @

1

-1

2. cos” O
sec’ -1
tan” 0
' 272767 6

hid o
X= 3 + 7, where i is an integer

T L
xX= E+ 27tn, where mis an integer

Sn N
xX= ?+ 2mn, where nis an integer




